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21. Select the option in which the words | 21. @& fd@eu Ej) ford wreaf & §iw a8
share the same relationship as that ey 8 o f&3 v e g & 49 2
shared by the given pair of words. BTl [

Paper : Book
A. Phone:Talk B. Wheel: Car A. B9 : graf B. ufgar : aR
C. Metal:Coin  D. Loan: Interest C. 41 : e D. 3 : @

22. Select the number that can replace the 22. 98 W g+ o fAefafe s § v
question mark (?) in the following series. ‘ e (?) @1 e & gadt B
512,768, 1152, 1728, ? . 512,768, 1152, 1728, 7
A. 2888 B. 2172 A. 2888 B. 2172
C. 2482 D. 2592 C. 2482 D. 2592

23. Select the number that can replace the 55 a8 W@ T o et S we
question mark (?) in the following ‘ o () o1 ®F o gad!

Sexies, 511,255, ,63,31,15,7
511,255, 7,63,31,15,7 ‘

A. 124 B. 2] A 124 B. 127
C. 175 D. 125 C. 175 D. 125

24. Three of the following four options are 24. = 9N P ¥ ¥ 99 BB R 9
alike in a certain way and one is -ﬂqﬁ & 3R UH IETT B IWUT B
different. Pick the odd one out. ‘ Rt w5y
y ) B D) " 0, e st

[2]@D [ ! (&)
0, TOSRII - Se
ne S (C) [=®

25. Which of the options would be the 25. &S SiET U W W B A1 AT
sixth figure in the following series? e ?

8 _clfe_u][v wfa R|[v w n'jtFH[l";?F’t‘"
DilJ 1o N[|T S| Y X E oifdJd I [|© N||T 1 Y _1-
1 2 3 4 B ‘ 1 2 3 q 5
A. |A B B. |8 _a A B B A
x A. z E.
D C c 3 D D © c 5 D
s A B D. v} : c _ A B
e < ‘  $o; ot D.
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26.

7. 8

28.

29.

30.

"A. VEM

Select the fraction that can replace the
question mark (?) in the following

series.
64 32 16 B 4

A. Ts539 B. 2137
4 2
C. 1530 D. 3137

Which of the following words can be
formed using all of the letters
EEELLPSSS, but none other?

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

Three of the following four letter-
clusters are alike in a certain way and
one is different. Pick the odd one out.
A. CHSX B. IKPR

C. DIQW D. AFWZ

Select the letter-cluster that can replace
the question mark (?) in the following
series.

LIB, NIY, PHV, RGS, TFP, ?

B. VEN

C. WEM D. VFM

If DAMSEL is coded as AEDLMS,
how will VALOUR be coded as?

26. a& =1 g o Frafaiea 9 9 o
fore (7) =1 ®IF o Soar & |

643216 8 4,

9'27°81°243° 729"

;

A. 1539 B. 387
4 2

C. 153 D. 7187

27. &4 ¥ &9 W 9= dad EEELLPSS
HERT T AN Eeeh 9 W BT & 7

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS ' D. EPISTLES

28. §1 TR 3R — WHEI ¥ 9 O fan
R W G & o UF SR 2|

e @1 fafga #¥
A. CHSX B. IKPR
C. DIQW D. AFWZ

29. @ JER—9E g4 W Fefafaa gaen
¥y — el &1 we o 9@l g1
LJB, N1Y, PHV, RGS, TFP ?

A. VEM
C. WEM

B. VEN
D. VFM

30. afe DAMSEL T AEDLMS & %9 ¥
@edg fdar 7 €, o VALOUR @1
fher yR Heas b smr?

A. AUVROL B. AOULRV A. AUVROL B. AOULRV

C. AVUROL D. AROUVL C. AVUROL D. AROUVL
31. Select the option in which the numbers ~ 31. a8 fRwey g+ g wef 9w ver

are related in the same way as are the 3 fr‘iiilﬁ?r & o fed 17 g ugE

numbers in the given sets. # weEn wafd €|

(6, 15, 30)and (12, 14, 84) (6, 15, 30) 17 (12, 14, 84)

A. (12,16,32) B. (16,12,36) A. (12,16,32) B. (16,12,36)

C. (12,16,48) D. (16,12,72) C. (12,16,48) D. (16,12,72)
PA/AD 10410804406
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| 32,

Select the option in which the numbers
are related in the same way as are the
numbers in the given pair.

32.

g8 fawen g forad dwent 99 gar
3 # Held & o9 Ry Ty gm |
T e # |

| (7,343) (7,343)
A. (5,125) B. (4,16) A. (5, 125) B. (4,16)
C. (3.81) D. (25,125 C. (3.81) . (25,125)

33. If oats are called carrots, carrots are | 33, @M@ 5§ &I R HET ATl &, TR B
called blimps, blimps are called flowers, few et s 8, v &1 o wEr
flowers are called stones, stones are I 8, Bel Bl YR Hal o % [
called balloons and balloons are called &1 @R Hel odl & R TER #
toys, then what do buds bloom into? R et @rar 8, o wiont Resiax

&1 a7l 87
A. Flowers B. Balloons A, Bd B.
C. Stones D. Toys C. Y D. g;l,ﬂ

34. Select the option in which the letter- | 34. I %9 g oRe sER—we 99 WaR
cluster is related in the same way as is 9 H T & SR e T sER—wE
the letter-cluster in the given set. wafea &

INQS INQS

A. FIMP B. PTWY A. FIMP B PTWY
[ C. NQTV D. DHKN C. NQTV D. DHKN
|

35. Which of the following strings of letters | 35. F=ifoiflad 4 & 5w sem sigenm &1
can be prefixed to the strings (IGHT), F@ell (IGHT), (AME), (EW) 3i¥ (AT)
(AME), (EW) and (AT) to make # ggel oMM G HMR We ae, o
common words that can be found in el aftlt ey | Uy o g #7

L an English dictionary?
A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (EL) C: (PL) D. (FL)
E 36. Inalanguage, 'mohu rupt nyrk' means | 36. U@ T #, ‘mohu rupt nyrk’ @7 s
'intelligent and hardworking', 'mohu triv gigaE iR afseft, ‘mohu triv jech’
t jech' means 'tests and examinations', &1 31ef “ge 3k wdemd, jech lyge’
'ljech lyge' means 'examination &1 aef Ther usr alv ‘stoj rupt’ @1
questions' and 'stoj rupt' means ﬁ-{ﬂ:‘ T
'intelligent answers'. What will be the ﬁ e mﬁq;%g?ﬁm i
expression that means 'questions and '
answers'?
A. mohu lyge stoj A. mohu lyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt
10410804407 PA/AD
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37. Select the correct mirror image of the ~ 37. & 7y W @1 w@ =dvr wfafda 1
given com bmanun
METALS METALS
||_||:'||"| B. || | |_|_IH ||f-f” HVJ|WTL\!1J B. r"|| ”1‘. "%J
. &) I-_I:_Fil__ D. @ Ay _?ﬁ“— ur| "'.,_'.[lr_ ||'l,_.] D. fi'ILJE':rW’E:I]E[
38. Suman leaves her home, turns left, 38. gu9 301 R 9 M@, and 78, SR
walks 300m towards the north and T 3R 300m Tell 3R FETHT T S
reaches l1hc Mﬂhatmﬂ.Gi:iﬂdhl.]unCtmnf uga | gl ¥, 98 e aiR @ iR
From there, she turns right and walks S >
500m to reach a hospital to visit an TP dR % @ @ fog mn[‘i
ailing friend. After that, she turns right IHN AT gl | SHS 918, 98 TN
to go to a supermarket. After shopping HSHY Ud YUVATDHE | T8 | YURATaT |
from the supermarket, she walks AT B HAE, T8 WY TADT 3T
straight to her house. In which direction R TS | WETHT T S & e
does the road from the Mahatma 2 Bt Fromdf ool #5
Gandhi junction to the hospital run? SRS '
A. Eastto West  B.North to South A [@HUREH B. I H IR0
C. South to North D.West to East C. gy @4 9ok D, uf¥em § qd
39. Three of the following four options are 9 sHaR i T 9 Ff vor 9
alike in a certain way and one is different. 9 & 3N Uh A9 B | 9T Bl
Pick the odd one out. fafea &y |
RN 5, (D PR SR
[® [=1® 03T O
e LD, p. e L), O,
® [=]1® ERE]O) [=](®
40. Select the option in which the terms | 40. @8 e g+ fored el o dra aé) wea &
share the same relationship as that o R 10 ug g & € 8|
shared by the given pair of terms. T 4
Square : 4
A. Decagon :5 B. Pentagon:9 A. SIS -5 B.UTyS : 9
C. Hexagon :7 D. Octagon : 8 C. 99 : 7 D.3r<qy - 8
PA/AD 10410804408
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41. How many fundamental duties were  41. 42 d Wfur @¥v= & 9ng9 § 9RO
included in the Indian Constitution ‘ wfeem= # fe ifors woe affaferd
through the 42* Constitutional fd g o ?

Amendment?
A 11 B. 9 A 11 B. 9
C. 10 2 MR b ‘ C: 10 D. 12

42. Under which writ does the courtorder ~ 42. &9 aife@r @ Sfawia =marerd, @R
a lower court or another authority to W ar fal s i) & we
transfer a matter pending before it, to ‘ bl i

: : e § WFERG SR B ARy
the higher authority or court? aar 20
-!al. MEII&MIIUS B. QUD Warranto A, W&ET B. a‘ﬁrm E’fg}’
C. Certiorari D. Prohibition ‘ C. IaN D. faue

43. The famous historical monument 43, 3N g g9arEan T iy oftefee
'‘Buland Darwaza', built by Akbar, is FIRG 'geiq qual SO Wy & ——
situated in the district of — forer & e 21
Uttar Pradesh. ‘

A. Meerut A. W@

B. Kanpur B. BHYR

C. Agra C. 3T

D. Allahabad (Prayagraj) ‘ D. SeTRE (RIS

44. Which Sikh Guru's birth anniversary is 44. oy fom TS W Fdar TOURE’ WER
celebrated as the festival 'Gurupurab'? & T F FTE o & ?
A. Guru Gobind Singh ‘ A. 1% mfde e
B. Guru Tegh Bahadur B. % T gBIgY
C. GuruArjan Dev C. 7% 3ol 24
D. Guru Nanak Dev ‘ D. 7% AP &9

45. Which of the following folk dance | 45. TH 9 BE 9 ?-I‘Iﬁﬂﬁ[ RGO T 9
forms is NOT associated with the state waferd =8 8 ?
of Haryana? ‘

A. Dhamal B. Khoria A. ©H1S B. @R
C. Jhumar D. Jawara C. IR D. SEm
|
10410804409 9 PA/AD
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47.

Which of the following banks is NOT
a public sector bank in India?

A. Allahabad Bank

B. Punjab National Bank

C. UCO Bank

D. Federal Bank Ltd.

Which scheme was launched by the
Prime Minister in 2015 for providing
loans up to 10 lakh to non-corporate,
non-farm small/micro enterprises?

A. Pradhan Mantri MUDRA Yojana
B. Make inIndia

C. Ujjwal Bharat Yojana

D

. Atal Pension Yojana

Which of the following Commissions

is mandated to recommend the

minimum support price for farmers?

A. Commission for Welfare of
Farmers

B. Commission for Agricultural Costs
and Prices

C. Commission for Agriculture
Growth

D. Commission for Agricultural
Development and Growth

46.

47.

48.

YRG H 399 9 $IF 9 9% gdvie
&= & o E R ?

A. SolEErE 4@

B. toTe =gl d6

C. g&l &

D. B 9% fal,

2015 # FEFHAT T IR — diule, I’
FY Y/ Ged IEHl BT 10 TG T6 B

FOI USH F9 @ forg 579 4 A &
AT I B g o1 ?

WA 5T Ao
W 39 SR

oo WRA AT
3ee g Ararn

AR,

g A fbw aman & faae & forg
ST I o AR Sl Fard

qIar B 7

A. fFam™ weamr s

B. FfY @Ta Ud $HHa AN
C. oY afE amam

D. &ft Rewm vd ofg smam

49. Prime Minister Narendra Modi launched ‘ 49. WHFHEAT g HIE A 2019 H
the Fit India Movement in the month of fe gfear ave & yoana &1 o |
2019.
A. luly B. September A. T B. fudav
C. October D.  August ‘ C. IacEy D. 3
PA/AD 10 10410804410
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50. Who among the following developed ~ 50. wmear & faga (@ 3ife Refefad)
the Theory of Relativity? ‘ g W (e g wify wrfea fean wram o ?
A. Madame Curie A. fey g8 2T
B. Albert Einstein B. 3c4c HEwEA &1
C. Alfred Nobel ‘ C. s Add &

D. Charles Darwin D. ey st &

51. In October 2019, the Ministry of 51. vaiEww, a9 U9 Woerg uRad #=ed
Environment, Forest and Climate | (MOEFCC) 3 aiagay 2019 # wRa i
Change (MoEFCC) launched the first g O e ge ol aramma wnfa &
national protocol to enumerate the | H@ B AU B B U T
population of which of the following ureThiel Ay faar ar ?
elusive and endangered species in India?

A. Snow leopard A. fom ﬁ?’”

B. Indian rhinoceros B. WRTH e
C. Gujarat lion C. Tﬂ]ﬁ @1 fam
D. Bengal tiger D. &Me SrER

52. In which year was the River Ganga | 52. f&w ad # 7w =7dY &1 wfia <14) €iffa
declared a national river? femar arar a1 ?

A. 2004 B. 2008 A. 2004 % B. 2008 #
C. 2014 D. 2016 C. 20144 D. 2016%

53. Which of the following states are 53. 399 Q@ P9 ¥ U UTHHE &% 9 39

connected by the Palghat Gap? ‘ # 9 g & ?

A. Maharashtra and Goa A. HERTS 3R e

B. Kerala and Tamil Nadu B. &% 3R afiemrg

C. Tamil Nadu and Andhra Pradesh ‘ C. daferrg 3R 3w wdw
D. Karnataka and Kerala D. @te® aiiv #val

54. Which of the following Harappan || 54. BSWIBC &1 §H @ D Al TN, A
cities was divided into three parts? ' A # Ao e ?

A. Lothal B. Mohenjodaro (A) eheret (B) HIEGll arer
C. Kalibanga D. Dholavira (C) HTeiraT (D) ©TATdINT

55. In which year was the Supreme Court 55. &% sfear &uHl A feg af & oo
set up by the East India Company in ¥ galed ~graTed @ @gEr @) o ?
Calcutta? . :

A 1757 B 1765 A. 17579 B. I?ﬁﬁfT
C. 1773 D. 1792 | C. 17734 D. 17924
10410804411 11 PA/AD
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36.

In 2019, who took the oath as the Chief
Minister of Haryana for the second
time?

2019 ¥, fows eRawn & gewE &
w9 H gEN AR U ol ?

A. Bhupinder Singh Hooda A. 9iuer e gg1 A
B. Anil Vij B. afe fawt =
C. Manohar Lal Khattar C. AR ol @R A
D. Dushyant Chautala | D. gwIa deren A
57. Who was awarded the Nobel Prize in | 57. 2019 # Wifecy &1 Addl [EPR 5799
Literature in 2019? ‘ 9 & wem far mar ?
A. Abiy Ahmed A. 34 JEHS DI
B. Peter Handke B. diex g8& &1
C. Olga Tokarczuk ‘ C. 3NN SBRABID B
D. Bob Dylan D. dfq f&em &l
58. The Indian cricket team played its first | 58. 22 ¥ 26 9@a¥ 2019 TH “RAA e
ever day-night test match against ____ ‘ e 7 U Ha¥ Ugell R e
from 22* to 26" November 2019. LR % faeg |
A. Srilanka  B. England A. Sicia B. Fwis
C. SouthAfrica D. Bangladesh ‘ C. féor appler D, aremee
59. Who won the US Open Men's Singles 59. 2019 ¥ Z.U¥. U9 gI9 UHd REaE
title in 20197 e o
A. Rafael Nadal A, el TSTel |
B. Daniil Medvedev B. 3fcr #Eg
C. Andy Murray C. @ WH
D. Nick Kyrgios D. & ffmee =
60. Who was the Chairman of Indian Space ‘ 60. EWR (ISRO) BRI dgar 2 fe= @ma
Research Organization (ISRO) when fehu T & R WRAT SR S
ISRO launched Chandrayaan 2 ‘ e (ISRO) @ afener @i of ?
mission?
A. Dr.K. Sivan A. @i & RyEe
B. A.S.Kiran Kumar ‘ B. U UH fv &R
C. Shailesh Nayak C. 99 s
D. K.Radhakrishnan D. &. EFHYH
|
PA/AD 12 10410804412
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61.

62.

63.

is the number of bits

in the internal databus of a processor.
It is also the number of bits a processor
can process at a time.

A. Control Unit

Data Length

Word Length

A Byte

v aw

What determines the number of
operations per second that a processor
can perform? It is expressed in
megahertz (MHz) or gigahertz (GHz).
A. Clock Speed B. Bandwidth

C. Frequency D. FLOPS
Which one of the following statements
about MS-DOS is true?

A. Itis an open source software.

B. Ttcan multitask.

C. It has a Command Line Interface.
D. It supports multiusers.

Which of the following statements

about kernels is INCORRECT?

A. Itis a computer program that
coordinates all executing utilities.

B. It is a computer program that
controls all computer operations.

61.

63.

—— U GEME B aRkE e 99 §
Rrew o) s B 8 | 78 flew # a8
wean W e 8, oy e U AR A
THIfd B |l & |

A. oz gag (@gre gfe)

B. $eI oy

C. a3 o

D. % qigc

. e waee gwr ufd S6e @ o Sde

arell |t @ v @ Fuior s
g fopar wran 8 ? g9 AmEes (MHz)
7 fmees (GHz) W @ fan s 8
A, e wie B.dsfey

C. amgf D. T (FLOPS)

MS-DOS & ar # fFefaiaa # 4 #9

g
gmﬁ
b
g
%

Fad @& an J F=faflea 4 9 9 W

HUF A 8 7

A. T8 a1 Hgex SHRY (HamE) 8 ol
i Fenfea Suwisgasi @RES)
&1 GHa Heal 2|

B. U8 Y1 ey HAeY () & o

T ey @ T w8
C. Itis a computer program that C. e U1 PR FAR (sivor) & S
schedules and manages all system Tyt widarstt @1 Feifa siv
processes. Faferd ol 2|

D. [t is a computer program that D. uE U1 HYgey HARY (NUmH) §
provides an interface between a AT SR FEE qonel & 49

user and an operating system. U IFERIGCID U FRart &
10410804413 PA/AD
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65. To create new volumes and format a | 6H3.

new disk that you just installed on a
Windows 7 computer which tool would

3m anfi—ardl faers 7 weer § W
fgwr Henfa (Fwie) @ & S9H Fu
we (dfegn) a9 ok ¥ &1 dwitd

you use? (wife) @ & fore ang Aw=faRes &
| 5w 9 (€)1 wanT s ?
A. Disk Utility A R ZRR&A @
B. Format B. Bfifc @I
C. Disk Management C. e H e &1
D. Disk Manager D. e #oR &1
66. The first generation of computers used: 66, B QST BEA H @I
warT fésar wmr o)
A. vacuum tubes A. fam At (flfﬂlﬁ eed) Bl
B. transistors B. W@ (giforeed) &1
C. semiconductors C. 3lEarcrd] @l
D. mechanical gears D. otz frad @
67. Which memory is NOT primarilybased =~ 67. F=feiffaa 4 |4 o= @ @ia (@W)
on semiconductors? 1= w4 Y 3 Fred] UR ARG el
Bl & 7
A. Main Memory A. &= | (F9)
B. Cache Memory B. gfcrer S (91 #)
C. Secondary Memory C. fadhas wfa (7))
D. Registers D. ey
68. Fiber relies on instead of 68. 321 HAR F forg wige fagya 9 e
electricity to transmit data, which ——— ux iR B 8, o i s=
facilitates much faster internet e % 99 gevAe wAGEl & gl
connections that are capable of handling yETH @l /o & Ol O defdgy wre
higher bandwidth. H WM B 2|
A. electricity A. faege
B. light B. W
C. electromagnetism C. fagm—daaa
D. magnetism D. o
PA/AD 14 10410804414

AU R THRTONMI



10410804415

69.

Which of the following cloud
infrastructure provisioned for exclusive
use by a single organisation comprising
multiple consumers (e.g., business
units). It may be owned, managed, and
operated by the organisation, a third
party, or some combination of them.

. frefofem & 9 fa Fomes smry

GYETT (FATSe SWIETEY) H IHd
(SETENv— EEHIid® SHIdT) R 3
IUATT HeA & U & 2 g8 fhe
HiraH, T UE AT S & A g
wWiffe |, vl iR werfea

, W Hel &
A. Private Cloud A o Foas
B. Community Cloud B. WIER® T6SS
C. Public Cloud C. IEaed Teras
D. Hybrid Cloud D. &Y TS
70. What is common between Chrome, | 70. @M, §HRI 3R 3101 F 4= 901 G
Safari and Opera? They are all: B2y g ?
A. web browsers A. 99 s (99 aravd)
B. search engines B. wron gui (W Gfor)
C. social media sites C. drere M3 f@avor — wre (Wgew)
D. web services ‘ D. 99 Har
71. ADSL provides data 71. ADSL s X @ sifom
rates in the downstream direction, from WA § Duld SI—Ie a6 IR R
the central office to the end user, than @) SR R HRl-eIE W AH wur]
in the upstream direction, from the end o SEETE = | aer e 2|
user to the central office. |
A. higher | A. SRR
B. lower | B. R
C. equal C. R
D. higher or lower (depending upon D. Seaar a1 fr=ar prer 3R ser
provider and traffic) HeReT — URET (@) W FRR]
72. In web development, a is | 72. 3 R H — 0% FOR & i’ﬁl&-]jﬂ'tﬁ"[
a web application that combines (Qrefieher) & St e fRrsiieeh SieTeperey
multiple services to create a single new (Rrret mftae gevha) # af¥e gaer
service displayed in a single graphical T T BT G B & foIg a5 Hawi
interface. I HaIfuIa &Yl & |
A. Multicasting B. Moodle A. Wee! BT B. gsd
C. Meme D. Mashup C. 9 D. #931g
10410804415 15 PA/AD
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73. The terms 'crawling', 'indexing' and | 73. ‘@iferT, SRy ik ¥ o= frw

'ranking' are related to: 9w & ?

A. phishing A. HrES (f6fE) @

B. search engines B. @rol g9+ (|4 3fom) &
C. browsers C. fa=R®i (grawr) &

D. internet service providers D. Sc¥-e Har uaramsl 9§

74. What is the keyboard shortcut to paste 74. Microsoft word WIgel H fdergare &
the contents of the clipboard in a Rl @ Uve we @ forn e Fere
Microsoft Word file? viiedpe &1 wanT far omar & ?

A. Ctrl+ P A Crl+ P&l
B. Cul+V B. Cul+V &1
C. Ctrl + C C. Cul+ Car
D. Ctrl+ X D. Ctrl + X &7

75. When entered in the cells of a Microsoft 75, W& Microsoft Excel a@9iie & yare]
Excel worksheet, numbers are, by (Hew) § g ufde & ol & ar
default, g4 FeiRa Rufa (@ Reie) g/ —

Bl 2 |
A. leftaligned A. 18 3R Wil
B. centre aligned B. &g # Wfd
C. rightaligned C. =i sk Wi
D. justified D. w9 iy (GfewEs)

76. In Microsoft Word, you can customise 76. Microsoft Word # amg
or choose predefined margin settings ®1 T Hp yd iR suig
by going to araeenal (A W) 1 srgaferd

‘ (FrcAIgS) B THA & 91 99 T & |
A. Layout > Margins ' A. Layout > Margins
B. Insert > Margins B. Insert > Margins
C. Review > Margins C. Review > Margins
D. Draw >Margins ‘ D. Draw > Margins
PA/AD 16 10410804416
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77. In Microsoft PowerPoint 2016, | 77. MS - PowerPoint 2016 ¥, H
contains formatting, wogs W fewEg &1 arell wl
positioning, and placeholder boxes for wmfiar & for wifd, g
all of the content that appears on a slide. 3R wre Bies dfew fAfta B 2|
A. Outlineview  B. Slide format A. ¥ISTET ® B. WSS Bife
C. Slide layout D. Slide master C. Wigs olamde D, Wiigs AneY
78. In MS-PowerPoint, 78. MS-PowerPoint #, ST
lets you copy all of the formatting from Ud 99 9 S S (BARCT) B
one object and apply it to another one. Hdl FH IR 3 gEN vy 7 wum
Y W HETIAT WaT e & |
A. Format Style A. Hite wgd
B. Format All B. wiffe 3l
C. Format Paste C. wife e
D. Format Painter D. hife fev
79. When you're using , 79. ©§ 39 & UGN BN @
you'll always be running the most up- I €, T ST §ad AT RT A
to-date version of the apps that f5d v waifts e (smscs) tw
Microsoft can offer. This unlocks | oAl Y8 Bid & | U8 Fafia e e
regular security updates, improvements | (HUScH), GuRI B Hdhe (3elidn) el
and more importantly, access to the 8 iR oIft wEwyl wu 9§, FdFaH
latest features and tools as soon as they fafreard ok oo oW & SueE 8
become available. &, TIHT SURTH FRarar # |
A. Office 2019 ' A. Office 2019
B. Office 365 B. Office 365
C. Open Office ‘ C. Open Office
D. Cloud Office 2019 D. Cloud Office 2019
80. In Microsoft PowerPoint, you wantto  80. MS-PowerPoint ¥ 319 4g {2 &
ensure that your company logo appears aed & f st dun &1 whie e
on the right-hand top comner of all the (e, el wew wgfoeso § Wl
slides in a given presentation. Which WSy & U a1 a7 W fRwrs ¥
of the following views would you use U B B oo sy fFr=ferfaa | 9
to do this? fae & &1 W &R B ?
A. Slide Sorter A. TATSS WY H
B. Slide Master B. 1SS "¥EXY &1
C. Notes Master ‘ C. icH ARey &
D. Outline View , D. 3sracelgd & &1
10410804417 17 PA/AD
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To insert a table of contents in a ‘ 81.

81. Microsoft Word 2016 Werd (SfagHe)
Microsoft Word 2016 document, you § wmfial @ arferer ufdie &0 @
would need to go to the forg, amaer Wéa X AT
menu tab, BITT |
A. Layout B. Design A. oRIEE B. feumem
C. References D. Insert C. VR D. 6

82. Inreference to Microsoft Excel, please 82. Microsoft Excel & HgH #, $Udl
see the contents of the following cells: fFr=ferRae weret (o) o wmiidr o)

A » | ¢ A~ | &

e 4 6 B 4 | e |

N 5 8 - SRR
Cell A3 has the formula =A1*$A$2. Ha A3 &1 93 = A1*$AS2 & s
The formula from Cell A3 is copied to (We1) A3 & g3 ®1 udrs (de) B3 #
Cell B3. The value displayed in Cell B3 Hrdl o wer 8| v (§9) B3 ¥
will be: yefdia = @ar g ?
A. 40 B. 20 A. 40 B. 20
C. 30 D. 48 ‘ C. 3 D. 48

83. is an established set of rules 83, st @1 v it aE 2
that determine how data 1s transmutted 51 7 FuiRa #ver & & ve & gare
between different devices in the same (egd) # A= Sumxol & d= e
network. Essentially, it allows @1 fber wree waifRer fabar oo | afard
connected devices to communicate 9 . g8 GAOTT SuFROi B 3M9H A
with each other, regardless of any HERY Y a7 £ Wol &) 0! AaR®
differences in their internal processes, wishara, AeaT a1 sfde (o) 3
structure or design. B8 3w 8|
A. Network Software A. STTF diueauR
B. Network Protocol | B. Wca® wiesid
C. Network Media C. Jeas Aifear
D. Network Operating System D. Fead T Rned

PA/AD 18 10410804418
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84. A is a collection of | 84. ——U& ¥fo® F, R T,
devices connected together in one FATSY 1 U | UH I oS SUBII
physical location, such as a building, FT UFH HUS €| I8 Bl a1 491 8
office or home. It can be small or large, wodT &, fored v SumnTEal & AR
ranging from a home network with one UF T Hulldl (819 -cad) | daR U
user to an enterprise network with st 41 fenea # e9Ri SuErETEars
thousands of users and devices in an 3R IUHWI F W I ol
office or school. (Texwrgsl eas) & Haar § |
A. LAN B. WAN A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud

85. What is the full form of "TCP'? 85. 'TCP' &1 qoi W&y &1 8 ?

A. Transmission Carrier Package A. wrafieE $fer tow
B. Terminal Control Protocol B. ofi-d @gial Wetdid
C. Transmission Control Protocol C. giEfes sgie Aiciard
D. Transport Control Protocol D. TUIE dgid Weiaid

86. Which one of the following devicesis | 86. ¥R WG # Fe S HANw
used for connecting computers in a star v & forg Fr=ferfaa 3 9 5w Suayr
topology? &1 wanT fdar wimer &7
A. Hub B. Repeater A. B4 B. Rdrex &1
C. Bridge D. Router C. fas1 @1 D, =¥eR &

87. In which topology are all the network =~ 87. F=ifcifea # 9 fbw Siers § w1
nodes individually connected to a Holler Wt (feas Aew) afdrra o
central switch, hub or computer that H e Huy g, g6 91 dgex 9 I
acts as a central point of Bt & o Weet ™ uilRa &= & o
communication to pass on the RV % e hard fig & v H b
messages? 8§ 7
A. Star Topology A. ®R mrEron
B. Ring Topology B. &1 et
C. Bus Topology C. a9 enMetol
D. Hybrid Topology D. eEfds il

D PA/AD
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88. Aliyahas 2600 MB of data. Dineshhas | 88. anferar & g 2600 MB 3e1 # | f@=wr
4000 MB of data. The combined data % U9 4000 MB ST #| ¥ &I @I
would fiton a USB flash driveof ___ S HYTH WU W HSROT &P
storage capacity. drel U USB terer Sigd ¥ Slefl off el 8 |
A. 1GB B. 2GB A. 1GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB

89. Which of the following binary = 89. fr=ifeias # | fow fRemmd wfshar
operations would give 111010 as the (arg=19) aifoRer) @1 alRom 111010 B2
result? (All numbers in this question are (39 ug &) W Tt fgamemd wen
in binary number system) gl @g=) Jax Ren) § €)

A. 111111-1011 A. 111111-1011
B. 100101+ 10101 B. 100101+ 10101
C. 110001+ 10101 C. 110001 + 10101
D. 111101-101 D. 111101 -101

90. The is a small program that | 90. UF UHR B oY A B
controls the computer from the time it Wl ®YexY B 99 wHg W e
powers on until the time the operating HAl & WA J§ A9 s & iR 99
system takes over. ad, Wid dd sraxier Rwed 99 3+

s 4 9 |
A. CMOS B. BIOS A. CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST

91. What is the typical range of RAM size 91, 3iifhw & &M % warr fee o9 @t
in a standard laptop used for office s tuey §# RAM # 3R 31 3
work? U @91 Bl 27
A. 128KB-256 KB A. 128KB - 256 KB
B. 256 MB-512MB B. 256 MB -512 MB
C. 4GB-16GB C. 4GB-16GB
D. 128 GB - 256 GB D. 128 GB - 256 GB

PA/AD 10410804420
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92. The part of the CPU which contains | 92. CPU @1 @8 wrr forad wfhed @
circuitry that uses electrical signals to gl & 3R o Wuda Wum B g
direct the entire computer system to &v a1 fFEfed e & for R geR
carty out or execute stored program fireew @1 MR &9 & oo Rega
instructions is known as: Hahe BT TN B 8, 99 fFY AW 9

T T 27
A. control unit A. Fgie gAe
B. arithmetic and logical unit B. tfemfew aiv dfftiea afie
C. register C. orex
D. program counter D. WU &Hreer

93, requires constant power | 93. ® WH BN B F ferg
flow in order to function. Because of AR fagge smgfd @t sravgmar usd
the continuous power it doesn't need g svmar faggg omft = wE &
to be 'refreshed’ to remember the data HRYT §H & ey HeiRe fhe @+ are
being stored. However, it is a volatile e @ g A % forn < 9@
memory, which means that all the data HT USdl 8 | BT, T8 U AReR
that had been stored becomes lost once W Bt 8, forwer anef 2 5 @ an
the power is cutoff. fagge smyfet arfer B o= s veRa

HRT ST I 81 Wil & |
A. DRAM A. DRAM
B. SRAM B. SRAM
C. SSDRAM C. SSDRAM
D. SDRAM D. SDRAM

94. A multitasking operating system means | 94, WeereiR& T AfRfET Rives &1 a2l w8
that: g f&:

A. multiple computers can be A. B3 PIEY B Ud T ead fha
networked together. T Al B |

B. multiple people can use a computer B. @8 Wl Udh HYeY P Ydh AT
concurrently TN B Hhd B |

C. several programs can be operated C. 9ga ¥ AUl &1 U | AT
concurrently far w7 wwar 8

D. the operating system can divide D. sifRfEr fawen, A= CPUs &
work between several CPUs | drg M &1 fnfoa &= gwar & |

10410804421 21 PA/AD
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95. Which of the following statements is ‘ 95. Microsoft Excel # aifel fheer @@e
NOT true with regard to the Auto Filter # Hay H F=felaa & 9 a9 W s
option in Microsoft Excel? wE T8 & 7
A. By filtering information in a ‘ A. e gdefie # o=m o fheey
worksheet, you can find values BB, Y gfeed dey oI Wea AT
quickly. PR DA & |

B. You can set a filter on one column B. 39 U WHU H Sel & TS PioH
of data at a time. N U fihecy He #Y 9od & |

C. You can control not only what you ‘ C. 39 7 Fgel 94 FAUEa &= vaa &
want to see, but also what you want ol 3 3@ AEd & dfed 99 Al
to exclude. W1 M9 & @1 g 2 |

D. You can search for text and numbers D. 3y el fheex fawmeg &1 wam
using the Auto Filter option. ‘ Tk Tae 3R e @ e # |

96. The second generation of computers 96. HICI D Rk drel 4
were based on e o)

A. integrated circuits A. TUdigd gRu
B. transistors B. Ui

C. VLSI chips ‘ C. VLSI o
D. vacuum tubes D. g Afermsi

97. Which one of the following input ~ 97. @i 7 =i &1 wwfod &= % forw
technologies do banks use (o process | d@ fr=faRed § @ @ @ Al
cheques? 1D DI JANT & & 7
A. OCR A. 3. 9. 3R (OCR) @1
B. MICR B. ©A. &g ¥l 3R (MICR) @1
C. OMR C. 3l T4. IR, (OMR) &I
D. Pixels D. fiadey &1

PA/AD 22 10410804422
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|

98. In the context of computer processors, 98. HYCY G & HaH H ALU HT i
what is the full form of ALU? w@Woy a7 8 ?
A. Arithmetic Logic Unit ‘ A. tRemfes difore gfhe
B. Array Logic Unit B. W difors gfre
C. Application Layer Unit ‘ C. Uiy er yfie
D. Application Layer Usability D. USRI oo Juifaferd
|
99. Which one of the following is NOT an 99, fA=faftaa % 9 &= vF waE 39 A1
Object Oriented or Object Based | v el wmareeE (et s
Programming Language? el e
A. Perl A. T
B. Ruby | B. %
C. Python C. UiRH
I R | 5 R
100. Which of the following binary | 100. Fr=fafad i & @ & fRamens w@hpa
operations would give 101011 as the oo w9 101011 & 2(39 9F H
result? (all numbers in this question are | a1 Hed fgemem e yonelt # €)
in binary number system)
A. 100010+ 11001 A. 100010+ 11001
B. 110101 -1010 | B. 110101-1010
C. 101111-1100 C. 101111-1100
D. 100101+ 1010 ‘ D. 100101 + 1010
|
|
|
|
10410804423 23 PA/AD
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Examination Hall. All cases of unfair means will be dealt with as

per Rules and Regulations of the Commission,

10. After Examination ts over, candidate has to retum his Answer

Sheet to invigilator. Invigilator will hand over the Candidate's
copy to candidate, then only candidate is allowed to leave the
examination hall Candidate is only allowed to take Candidate's
copy of answer sheet.

Read the following instructions carefully: ‘m féei &t e | 0§

1. Out of the four alternatives for each guestion, only one dircle | 1. W@ W¥ sfmPumRsadiddsdam &
for the comect answer is to be darkened completely with e ot T, ¥R, I gaE W Faw 0@ a8 gl
Black Ball Point Pen on the OMR Answer Sheet The e w4 ulse 0 ¥ W | 1@ R I ST
answer once marked is not liable to be changed W S 4% I8 T T 0w

2. The candidates should ensure that the Answer Sheet is not | 2. wlanigfifla =t #iom ws AN ETH
folded. Do not make any stray marks on the Answer Sheet. Do W & 3 e [ i | il s a;ﬂa;ma;
not write your Roll No. anywhere else except in the specified IR v A Feffra e & afafee s A g |
space in the Answer Sheet

3. Handle the Test Booklet and Answer Sheet with care, as under | 3. whan YT 18 ITR uss ® WIFqeS WG #Y
no circumstances (except for discrepancy in Test Booklet), it il off ofRufa A | Faa ol ggs A =l
another set will be provided @1 B8 & ) GO IS O il 9T g Iuee

81 Sy W |

4. The candidates will write the correct Test Booklet Senes as| 4, qﬂwgﬁﬂmﬁaﬁﬂqﬂmgﬁm;ﬁﬂaﬁuﬂmﬂ
glven in the Test Booklet in the Atténdance Sheet. HE i & il e 1 6|

5. Each candidate must show on demand his / her Admit Card ta | 5 Eﬁiﬂﬁﬂ'{ U giem, Fy ST B yo e
the Invigilator o feam |

6. No candidate, without special permission of the Center | 6. HUI&® U1 &g J=HiyT 31 W ESCIRE AERIE
Superintendent or Invigilator, should leave his / her seat. el s wiE A g |

7. The candidates should not leave the Examination Hall without | 7. #ria FE IONT F A T TF ﬁ{!E fan
handing over their Answer Sheet to the Invigilator on duty. ot s wym At B | afg uftenff 3
Cases where a candidate has not signed on the Attendance IufRf v T gEnaR ) e & o s S #
Sheet will be deemed not to have handed over the Answer T3 T EF 6 dver @ ol 0w GE[F‘EH W &1
Sheet and dealt with as an unfair means case R HiHA1 ST |

8. Use of Pencil/Electronic/Manual Calculatar is prohibited, 8. Uy / Eﬂﬁiﬁiﬁ / Eeaitn gias & Igun

aRfa |

9. The candidates are governed by all Rules and Regulations of | 9. wlten e 3t srem & ferg wllamif amdim & Wit Pyl
the Commission with regard to their conduct In the v faft g Pofiva 8 el amel & o ool

®1 am & Foni v R & arqer )

10. e F 3w anoff o = sy slyw s A

& | s g sl #) I uae 91 apgdf ufy
geita uftt geenra wad arof aun fed e f s
FaE] 3 suf franeh | I o @ snmlff o
srvapedf ) oA Ty @ o ) Rl R |

11. Candidates are not allowed to take Test Booklet with them.| 11, tflan & awis vflendff & ofen gfeeT =y
They have to submit the Test Booklet to the Invigilator after st w drert gfl oden g @t
the exam. wftamdf o wry A S EwE § |
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